Efficiency vs P,

- 02
Q : : :
ULV JHT:) SERRPRPPPRPY FRPPPPPPPPPR FRRPRPPPRRES  ERRRRRRPRPS
> I : : :
2 0.16F
9]
2 -
20.14
0]
0.12F
05| STTPPPPPPRS PR RPN ol
0.08F -+ froeeeeeeees 1 £ 1 : IERLRILS
0.06F ; ; :
0.04F
0.02F

o G: | EEERTIT

T : :

@ 15 T -3 }l A N IR AEERRRERRED
1 “l& 31—
107 1 10 2 8

Hp. (Gevf
—=— DQM_CKF_TTbarPU
—«— DQM_mKkFit_TTbarPU
—— DQM_mkFit_TTbarPU-clonerfix2

= 0.4

»

>

0.09
$0.08
£0.07
0.06
0.05]
0.04
0.03
0.02
0.0

<0

clency

et

Ratio

Efficiency vs ¢

o 0.1-
o E
>‘0.09 ;
2 ]
$0.08 :

° i
= L -+
9] H
o 15 -+
. 4t
cl | 4+
-: - - {4
-3 2




	Contents
	Page 1


